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𝐴𝑖𝑟𝑇𝑒𝑚𝑝𝑡 = −114.56 + 0.06399𝑌𝑒𝑎𝑟𝑡 + 𝜀𝑡

 

𝑀𝐼𝑁 = 14.50 °𝐶

𝑀𝑂𝐷𝐸 = 15.34 °𝐶

𝑀𝐴𝑋 = 16.22 °𝐶

𝑀𝐼𝑁 𝑀𝑂𝐷𝐸

𝑀𝑂𝐷𝐸



𝑀𝐴𝑋 𝑀𝑂𝐷𝐸

𝑀𝐼𝑁 = −0.33  °𝐶

𝑀𝑂𝐷𝐸 = +0.51 °𝐶

𝑀𝐴𝑋 =  +1.39 °𝐶
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 

 

𝑆𝑒𝑎𝐿𝑒𝑣𝑒𝑙𝑡 =  −478.27 + 0.25262𝑌𝑒𝑎𝑟𝑡 + 𝜀𝑡



 

𝑀𝐼𝑁 = 24.04 𝑐𝑚

𝑀𝑂𝐷𝐸 = 34.56 𝑐𝑚

𝑀𝐴𝑋 = 45.56 𝑐𝑚

𝑀𝐼𝑁 𝑀𝑂𝐷𝐸

𝑀𝑂𝐷𝐸

𝑀𝐴𝑋 𝑀𝑂𝐷𝐸
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 

 

𝐻𝑒𝑎𝑣𝑦𝑅𝑎𝑖𝑛𝑡 = 52.0656 + 𝜀𝑡

 

𝑀𝐼𝑁 = 1.6 𝑚𝑚

𝑀𝑂𝐷𝐸 = 52.0656 𝑚𝑚

𝑀𝐴𝑋 = 165 𝑚𝑚

𝑀𝐼𝑁

𝑀𝑂𝐷𝐸

𝑀𝐴𝑋



𝑀𝐼𝑁 𝑀𝐴𝑋
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 

 

𝐻𝑖𝑔ℎ𝑇𝑖𝑑𝑒𝑡 = 70.065 + 0.025𝑇𝑟𝑒𝑛𝑑 + 0.150𝐻𝑖𝑔ℎ𝑇𝑖𝑑𝑒𝑡−1 + 16.417𝔻10 + 22.256𝔻11 + 16.875𝔻12 + 𝜀𝑡

𝔻10 𝔻11  𝔻12 

 

𝑀𝐼𝑁 = 50 𝑐𝑚

𝑀𝑂𝐷𝐸 = 82.78 𝑐𝑚

𝑀𝐴𝑋 = 189 𝑐𝑚

𝑀𝐼𝑁

𝑀𝑂𝐷𝐸

𝑀𝐴𝑋

𝑀𝐼𝑁 𝑀𝐴𝑋
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𝐴𝑖𝑟𝑇𝑒𝑚𝑝𝑡 =  −114.56 + 0.06399𝑌𝑒𝑎𝑟𝑡 + 𝜀𝑡
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𝑆𝑒𝑎𝐿𝑒𝑣𝑒𝑙𝑡 =  −478.27 + 0.25262𝑌𝑒𝑎𝑟𝑡 + 𝜀𝑡
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𝑝

𝑝

𝑝 𝑝 = [3,4,5,6,7,10]

 



 

𝑝 = 7

 

P3 P4 P5 P6 P7 P10

P3 1 0.946245 0.904438 0.874677 0.867602 0.769844

P4 0.946245 1 0.954921 0.936125 0.92762 0.827497

P5 0.904438 0.954921 1 0.982117 0.96992 0.87184

P6 0.874677 0.936125 0.982117 1 0.988169 0.89868

P7 0.867602 0.92762 0.96992 0.988169 1 0.914837

P10 0.769844 0.827497 0.87184 0.89868 0.914837 1
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𝐻𝑒𝑎𝑣𝑦𝑅𝑎𝑖𝑛𝑡 = 52.0656 + 𝜀𝑡
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𝐻𝑖𝑔ℎ𝑇𝑖𝑑𝑒𝑡 = 70.065 + 0.025𝑇𝑟𝑒𝑛𝑑 + 0.150𝐻𝑖𝑔ℎ𝑇𝑖𝑑𝑒𝑡−1 + 16.417𝔻10 + 22.256𝔻11 + 16.875𝔻12 + 𝜀𝑡

𝔻10 𝔻11  𝔻12 
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